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Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

Annotation Meaning

wavy line in translation minor error; in margin full marks for section of answer; in essay good point in margin

straight line in translation major error; in margin 0/2 on section of answer. + error in body of answer

omission in translation omission=major error; in margin 1/2 on section of answer + use for omissions in body of
answers

BP blank page
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Section A: Prescribed Prose Literature

Question | Indicative Content Mark | Guidance

la He thought that sufficient time had passed [1] for Simon to forget [2] ETTEIBR BE (uNV ... A (lines 1-3 from Passage 1A): why

about the boy [1] and be sorry for his earlier misdeeds [1] did the speaker return to Athens?

Maximum 2 marks

1b (i) He summoned some of his friends [1]. allow 'associates’ etc. [1] | nagexdAect Tvas ... autov (lines 6-8 from Passage 1A):
what did Simon do?

1b (ii) They put guards on the roof; they were eating and drinking [2] so [4] | what did his friends do, and why?

that they could grab the boy when he came out (of the house) [2]
1c o0ToL d’ 1)d1 puebvovreg EkmndoLy ¢’ fuag: early position of 8] | o0tord ... wyounv amev (lines 10-16 from Passage 1A):

1dn peBvovteg; choice tense and position of ékmndwoy how does the speaker present what happened in a manner
ot uév tveg: some of Simon'’s friends were not prepared to that favours his case?
ovvelapaptetv which suggests they knew he was in the wrong 1 mark for quotation of Greek 1 for discussion up to 8:

Maximum 6 if only content/style discussed.
Misunderstanding/mistranslation of the Greek negates the
mark for the Greek phrase.

Lipwv d¢ oOtoot kat Oeddirog kat Iowtapyog kat AVTOKANG:
very specifically points the finger at those responsible; there are
four of them against one boy

elAkoV TO pelpaxtov: tense (imperfect) and choice of eiAkov

0 d¢ olag To tpatiov xeto Gpevywv the boy escapes and runs
away, suggesting he is the victim (and that the jurors are invited
to be pleased that he has escaped)

éxetvov pev éxdpevéeobal, Tovtoug O, EMeldn TaXloTa EvTUXOLEV
avOpwmolg, aloyvvouévoug amotpépecdat: the speaker contrast
what he expected to happen to the boy and to the attackers; he
highlights the shameful nature of their act (aioxvvouévoug)
ETéQav OO0V YOUNV driwv: rather than seek conflict, the speaker
goes away by another route.
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Indicative translation Marks | Guidance
1d [15] Levels of response
Section

(i)

(ii)

(iii)

oUTw oPOdY’” AvTOVS EPLAATTOUNV, KAl
TIAVTA TX VTIO TOUTWV YLIYVOUEVA LEYAATV
guavt ovpdogav Evoulov

| was watching out for them so carefully and |

considered everything done by these men
(them) a great misfortune for myself

kavtavBa pév, tva pnot Lipwv v paxnv
vevéoOat, oUTe TOVTWV OVUTE UV OVDELS
oUTe Katedyn Vv kepaAnv olte &AAO
KAKOV 0VOEV EAaPev

And there, where Simon says the fight took

place, no one from their party or ours had his
head broken or suffered any other damage,

®S Y0 TOVG TOPAYEVOUEVOLG VLIV TopéEopat
uéptopag.

so (as) | will provide for you those who were
present as witnesses.

[5]

[5]

[5]

The passage has been divided into three
sections, each worth 5 marks.

() allow 'sought to avoid'/ allow variations
on 'everything..."' 'l avoided'-minor error.
allow variations on 'misfortune’

(i) allow 'mine or our'/ allow 'had their
head cut open'/ allow variations on
‘damage’

(iii) if any candidates to include 'of these
things' give credit. 'Qs' must be translated

5-mark grid

[5] Correct translation (as agreed at
standardisation)

with one minor error allowed.

[4] One serious error or two minor
errors, otherwise

the meaning is conveyed.

[3] Most of the meaning conveyed,
but several errors.

[2] Half the meaning conveyed, the
rest seriously flawed

[1] A minority of meaning conveyed.
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Indicative translation

Marks

Guidance

Levels of response

le The boy fled into a fuller's shop [1]; his [2] What happened immediately after the end Any two points.
pursuers grabbed him there and took him
off forcefully [1], while he shouted and of the passage?
cried out to the bystanders [1]
1f bueic: the speaker addresses the jurors. [8] | @v Vpeis ... kataotivat (lines 1-6 from | 1 mark for quotation of Greek 1 for

o dikax YmpiCecOe: he reminds them of
their duty; imperative and prohibition; T&
dikawx emphasises what is at stake here
ur) meoudnte: he appeals to the jury
because of the threatened penalty (éx trc
natEdog Adikwg Ekmeocovta); suggests
negligence if the jurors vote against him
UTTEP RG: the speaker stresses his services
for the city

TMOAAOVG  KvOUVOUG KekvOUVELKA Kol
MoOAAaG  Antovgyiag  AeAntovQynka:
repetition of moAA-, parallel phrasing with
the two perfects and cognate accusatives
KAKOU UEV avTI) 0LdEVOS alTlog: position
of ovdevog; balance of kakov and dyaBwv
o€ moAAwv (. 4)

0Vd¢ TV €UV  TEOYOVWV  OLdE(C!
emphasises his family’s benefactions;

reinforcing negatives

Passage 1B): in what ways is this a
powerful conclusion to the speech?

discussion up to 8:

Maximum 6 if only content/style
discussed.
Misunderstanding/mistranslation of
the Greek negates the mark for the
Greek phrase.
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Indicative translation

Marks

Guidance

Levels of response

wote dkalws av VP’ VPV Kal VO TV
AAAwv €AenOeinv: draws attention to his
need for pity

o0 Movov el Tt maBowt @v  Lipwv
PovAetat: emphasises the personal nature
of the vendetta

OTL VayKkAoONV €K TO0VTWV TIRAYHUATWY
€l TOLOVTOUG

AYQOVAS  KATAOTHVAL

emphasises the personal humiliation of the

trial; repetition of toloVTwWV and TolovTOULS

19

Candidates may concentrate exclusively on
the speaker and Simon, though credit
attempts to include other individuals such as
Theodotos. They should draw on a range of
examples from the set text which are
designed to bring out the contrasting
characters of the individuals selected.
Candidates may wish to argue about the
success of this presentation, and the extent
to which the speech may be deceptive.
Answers may include:

o In the introductory chapters (81-4) the
speaker presents himself as a
laughable figure;

o The contrasting presentation of the
relationship enjoyed by both men with
Theodotos (the speaker kind, Simon
aggressive);

o The behaviour of Simon at the
speaker’s house (§6-8);

[10]

In the sections of Against Simon you have
read, how effectively does Lysias contrast
the characters of the speaker and Simon?
Essays should make specific reference to
examples which illustrate the points
chosen. Candidates may use paraphrase
or selected short quotations to
demonstrate their knowledge of the text.
There is no requirement to refer to the
Greek text, though candidates may
choose to do so, and credit should be
given where they do so appropriately: this
will particularly be the case where they
deal with issues of style, and it is
appropriate for them to use the passages
on the paper to illustrate this. Comment
for credit should be confined to the set
portion of Lysias, though some credit can
be allowed where material outside the set

AO02=10

Level5 9-
Level4 6-
Level3 4 -
Level2 2-
Levell O0-

= WO

The detailed levels descriptors for
these questions can be found in
Appendix 1
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Indicative translation Marks | Guidance
o The embarrassment of the speaker text is used to illuminate the set text.
about the prospect of public Credit any other reasonable point.

humiliation when his relationship with
Theodotos became known (89);

o The unprovoked and drunken assault
on Theodotos and the attempts by the
speaker to rescue the boy (yet avoid
confrontation)(811-19);

o The use of humour (Simon’s stone
hitting one of his own friends (88);

o Simon’s lies (§22-31);

o Simon’s character shown elsewhere
(844-5);

o The speaker’'s good services to the
state (846-8).
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Section B: Prescribed Verse Literature

Question 2
Question Indicative Content Mark Guidance
2a Hector has hurled a spear at Achilles, which rebounded from [3] | What has happened just before Hector speaks (line 1)?
the shield [2]; Hector asks Deiphobos for another, but _
Deiphobos was not near him.[2] Maximum of 3.
2b He realises that the gods summoned him to death [2]; he [4] | @ mémouny ... ABrvn (lines 2-4 from Passage 2A): what does

. . Hector now understand?
realises that he was mistaken about the presence of

Deiphobos[1]; who is within the walls [1] and Athene has
deceived him [1].

2c VOV d¢ 01| £y Y00t pot Oavatog kakds: vov and €yyvOL stress [6] | vOvdeon ... muBéobau (lines 5-10 from Passage 2A): how
does Homer’s language convey Hector’s thoughts and feelings

in this passage?
awareness of his situation 1 mark for quotation of Greek 1 for discussion up to 6:
Maximum 4 if only content/style discussed.

the imminence of Bavarog kaxkdg and Hector’s frank

o0’ &1’ dvevOev: reinforces vov d¢ dn €yyv0y, just as ovd’
aAén reinforces Odvartog kakog; two negatives

1N Y& o maAaL 16 ye GpiAtegov: Hector’s bitter realisation of
the gods’ abandonment of him

Znvite kat Aog vit éknPoAw: picks up the reference before
the passage to B¢ot

ol pe ma&pog ye mpodoveg eipvato: emphasises the change
in Hector’s fortune

VOV aUTé pe poloa kixdvet: short recapitulation of line 5 (mini

ring composition)

1) LoV &oTtovdl Ye kal axkAelwg dmoAoiunv: Hector accepts
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Question Indicative Content Mark Guidance
his fate, but wants it to be not dotoudi ye kai akAeig; change
of tone, showing a heroic determination to go down fighting;
highly spondaic; repetition of alpha privative
uéya 0é€ag tLkal éooopévolot mvbéobar: Hector here shows
his determination to achieve a noble death, to be remembered
in the future.
2d [4] | &c doa dwvnoag ... daoyavov &L (lines 11-16 from Passage

elpvooato pacyavov 0&V: shows he is determined to die
fighting

uéya te otipaov te: draws attention to his sword’s size and
weight (as befits a hero)

olunoev d¢ dAeic: Hector as a man of action

¢ T atetog LPetnels: simile comparing Hector to an eagle
apmAa&wv 1) oV’ dpaAnv 1] Ttwka Aaywov: emphasises the
hunting prowess of the eagle; the prey are very different from

the hero Hector now faces

2A): what impression of Hector does Homer convey in these
lines?
1 mark for quotation of Greek 1 for discussion up to 4.

'dark clouds... (death)' on its own, only limited credit
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Indicative translation Marks | Guidance
2e [15] Levels of response
Section

(i)

(ii)

(i)

OoUNON d" AxAevg, néveog d' ¢unmAnoato
Quuov dyotov

Achilles charged and filled his spirit (heart)
with savage fury

mEO00eV 0¢& TAKOG OTEQVOLO KAALVYE

KAAOV dAAAEOV, KOQUOL D' Eéméveve dpaetvn
TeTQAPAAQ

In front of his chest he put his beautiful
ornamented shield for protection, and he
nodded with his gleaming, four-crested
(horned)(plated) helmet;

KaAat d¢ meplooeiovto €0eloat

xovoeat, &g "Hpatotog tet Adpov dudt
Oapede.

And the beautiful golden (horse) hairs were
tossed about, which Hephaistos put thick
around the crest.

[5]

[5]

[5]

The passage has been divided into three
sections, each worth 5 marks. Please
write the marks awarded for each section
in the body of the script, at the end of the
section. Draw a vertical line through the
text to indicate where each section ends.
Add up the sectional marks to give a total
out of 15, to be written in the right-hand
margin. Ring the total.

(i) insert 'savage'. allow 'his spirit filled
with (full of)..." 'might’ or 'strength’-
minor error. allow ‘filling'. variations on
‘charged’ must indicate
motion/aggression

(i) must have some sense of covering
or protection; just 'held'-minor error.
allow 'helmet nodded...", allow
'holding'’. 'nodded helmet' minor error
(iii) 'plume’ or ‘'mane’ minor error.
allow 'let hang' and variations on
'thick'. allow 'on both sides of'. allow
variations on ‘were tossed about' as
long as similar in meaning e.g.
‘'shook/waved'

5-mark grid

[5] Correct translation (as agreed at
standardisation)

with one minor error allowed.

[4] One serious error or two minor
errors, otherwise

the meaning is conveyed.

[3] Most of the meaning conveyed,
but several errors.

[2] Half the meaning conveyed, the
rest seriously flawed

[1] A minority of meaning conveyed.
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Indicative translation

Marks

Guidance

2f

&xto0L pipve muAdwv: this draws attention to what is
happening outside the city and reminds the audience that
Andromache is unaware of this

lotov Odatve pvx@ dopov vymAoto: Andromache performs a
traditional task for wives in part of their house; dintAaxka
ToEPLEENY, €V & Bpdva MoKIA™ émtaooe: emphasis on
domestic detail; strong contrast with what has happened
outside the walls of Troy

otnoat toinoda péyav: another task appropriate for a wife
“Extoot Oeoua Aoetoa paxng €k vootrjoavte: but of course
Hector will not return from battle; irony

mAe Aogtowv: draws attention to the contrast between the
domestic scene and the battle

xeooiv AxIAAN oG ddpaoe yAavkwmic AOrvn: Hector’'s
enemies include both a man and a goddess

KWKLTOL O’ 1kovoe Kal olpwyng &mo ogyov: the noise
arrives before any étrjtupog &yyeAog

e O’ EAeAlxOn Yuia, xapal d¢ ot éxkmeoe KeQKIC:
Andromache immediately understands what it means, and

drops her shuttle — she does not need a étrjtvpog &yyeAog

[8]

&Aoxog d' oL mw ... kepkic (lines 1-12 from Passage 2b): what
makes this passage so effective?

1 mark for quotation of Greek 1 for discussion up to 8:
Maximum 6 if only content/style discussed.

'returning from battle' only one mark without reference to 'baths’
'poor girl' possible to score full marks with only this word if
development suggests 'delusion’

10
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Question Answer Marks Guidance
Levels of Response
29 Candidates will need to use examples from [10] | From the lines of lliad XXII that you have | AO2 =10
the set text to show how Homer presents read’ how does Homer make his narrative Level 5 9-10
the different stages of the confrontation powerful and moving? Level4 6-38
and its aftermath, including the reaction of . Level3 4-5
the Greeks and Trojans to Achilles’ E)fsrarl]ypsl essh\?erJ}Ii?:rT iﬁﬁgtrsaﬂzctﬂg L?;‘i?]rtince o Level2 2-3
success. Credit discussion of the powerful Levell 0-1

combat scene and the strong emotions

evoked both during the combat and

afterwards.

Answer may include:

o The first exchange between Hector
and Achilles, including Hector's
attempt to arrange proper treatment
of the loser’s body;

o The forceful refusal by Achilles;

o The first exchange of spears, and
Hector’s realisation that the gods are
against him;

o The final charge of Hector,
Achilles’ response;

o The reference to the armour of
Achilles, stripped from the body of
Patroclus;

o The final exchange between Hector
and Achilles, and Hector’s reference
to Achilles’ death;

o The reaction of the Greeks, and
especially Achilles, with his decision
to desecrate the body;

o The reactions of Priam, Hekabe and
Andromache.

and

chosen. Candidates may use paraphrase
or selected short quotations to
demonstrate their knowledge of the text.
There is no requirement to refer to the
Greek text, though candidates may
choose to do so, and credit should be
given where they do so appropriately: this
will particularly be the case where they
deal with issues of style, and it is
appropriate for them to use the passages
on the paper to illustrate this. Comment
for credit should be confined to the set
portion of Homer’s lliad, though if
reference beyond this develops further
the discussion of the set text, this can be
credited.

a good answer can concentrate largely
on one aspect of the story in detail. e.g.
direct speech between the heroes/
reactions of family

The detailed levels descriptors for
these questions can be found in
Appendix 1

11
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Use this space for a generic mark scheme grid that applies across the question paper

Mark Scheme

June 2015

Section

A

TOTAL

AO1

Recall and deploy relevant knowledge and
understanding of literary, cultural or historical sources
or linguistic forms in their appropriate contexts.

24

46

AO2 (a)

Analyse evaluate and respond to classical sources
(literary, cultural, historical or linguistic) as appropriate.
AO2 (b)

Select, organise and present relevant information and
argument in a clear, logical, accurate and appropriate
form.

26

28

54

TOTAL

50

50

12
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Level Descriptors

[9-10] Comprehensive answer covering most or all of the points in the mark scheme; highly perceptive response with detailed reference to the rest
of the prescription; argument incisive, very well structured and developed; technical terms accurately and effectively used,;
sustained control of appropriate form and register; legible, fluent and technically very accurate writing.

[6-8] Answer covering some of the points of the mark scheme; perceptive response with some reference to the rest of the prescription;
argument well structured and developed; technical terms accurately and effectively used; good control of appropriate form and register;
legible and technically accurate writing, conveying meaning well.

[4-5] A few valid points but some significant omissions; limited reference to the rest of the prescription; argument coherent if cumbersome or under-
developed; some technical terms accurately used; basically sound control of appropriate form and register; legible and generally accurate writing,
conveying meaning clearly.

[2-3] Limited response; little or no meaningful reference to the rest of the prescription; argument coherent even if very cumbersome or under-
developed; simple technical terms used appropriately; basic control of appropriate form and register; legible and generally accurate writing; clarity
not obscured.

[0-1] Work in this band may meet some of the criteria for the band above, but on balance falls below the standard defined for the higher band;
alternatively, work in this band will be too inadequate, inaccurate, inappropriate or irrelevant to justify any credit in a higher band.

13
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